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' The figures in the margin indicate
Sfull marks for the questions.

Answer elther in’ English or in Assamese.

1. Answer the followmg questhl‘lS as directed :
. lany ten) 1x10=10
TS Al e o iR T i 3
- (Rieoreat wefy)
(@) The process of converting the message
" into communication symbol is known as
(Choose the correct answer)
ISR el e welies T i
CRPCO! A T X2 |
_ (b Te! af@ laradn)
(i) encoding
A eIt
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“
. (ii) | decoding . , v
ST (c) Motivationisa stimulation of mind under .
| . the management function of
(iiij) transmission (Choose the correct answer)
. (iv) recoding PWC! ARBIERIN a(sra‘é TEYE ? ol o
P oG o a
(i) directing
“ ;nfoﬁatjl ot b anication is characterised | oot
y which ol the following distinctiveness ? . o
| (Choose the correct answe}) (i organising
ST Iy . SRl P
e WAMGS 3R sy P |
o .‘ (5B Bewsr a1 Blaeay) (i) contronin/g |
(i Task-oriented - | . FRergels o
e Ll
' . (iv) co-ordinating
(i) People-orienteq R
_ : (d) Control exercised by lower level managers
(iii) Position-orienteq is (Choose the correct answer)
gdl | R ARG gl SR F
: | . ' 20T (B e AR TS
(iv) Structure-orienteq .
sefAgdt (i) strategic level control
| | Frifere siEs Fag
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(i) tactical level control
Mive ~rfizs Fage
) (iii) operating level control
TR RGN FREe
* (iv) None of the above

@Y (PGS =T

(e) Which one of the following human needs
of Maslow’s theory also finds recognition

- 'in the motivational theory of MeClelland ?
(Choose the correct answer)

W?WWWWWWW‘{Q
frare @l el (IFfeTeTe S Trsifa

wgs TP @ FRR?
- (TP Tewr R @ﬁwr)
" () Psychological need . |
- (ii)- Security need
. (i) Social need
(w) Ego need
SRRLECS mrez—-ﬁa—r

(/) Which of the following roles of a manager.

is important to defeat grapevine ?
(Choose the correct answer)

ORA o T N TR ARG (IR

o =S e 2
(13 TeCh! aﬂ% Bfarea)
(i) Management role
. ool o
(ii) ' Interpersbnal role
e S

(iii)_ Informational role
©Y RS g
(iv) Decisi'onal role
PraesiRt S
(g) Providing information to top management

by financial manager is his/her
(Choose the correct answer)

T Rl TeAe s« il GRIet Fw
sRoer=s (7P Tew! AR Bl

(i) recurring function

| c?ﬁaséiﬁas B
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(i) Nonrecurring function

- TR

- ({ii) routine function

N,

(iv) advisory function

AT DI

Which ‘of the following ;
financial decision~makingg '.-:s ° part of
(Choose the correct answer)

TR (POl K8 Frare Refigag SR
~ TP Cewcsy R Tlenewy)
(i)  Investment decision
Rifcee s
(i) Financial decision ~
ke Prars
(iii) Dividend decision
Ao Rfsser Fais

‘ (iv) All of the above

@IS HGIZFR5!
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() Which of the following is not included in

demographic segmentation of market?
(Choosé the correct answer)

FCNS ER! SEPRYR e e R
SIS N2 (AT TeTCo! FfR @ﬁ\‘?af)
- (i) Gender | .

- ot
(i) Age
]
(iii) Education
Pt
(iv) Culture .

| AE
() Who introduced 1:ht=:AC.0an313’t of

‘marketing mix’? o
(Choose the correct answer)

T T D G S TR
' (wﬁasa@azﬁfarfé@ﬁww

(i)  William J. Santbn -
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(i)  Philip Kotler : : () Fast food outlets like KFC is an example '

. . k tlng technlque ?
=eferet °Betw - | | of which maé;;foose the correct answer)
(i) Henry L. Hemen [ o am Reler com @ KFC, ﬁm@ﬁ @ﬂgr
S @ W a L , ol o ? (’7'75?7s g ofersa)
() N. H ' (i) Product franchlsmg
iv . H. Borden
. R T ‘ ‘ (ii) Busmess format franchising
(k) Mobile hand-set’ is an example of S . Tl aen creiEfer
. (Choose the correct answer) : (iii) E-commerce
TR (2T BV MRS RIS wry S 2 | E-6
(71w %:m?y aﬁ% @7%@37) . (iv). Retailing
(i) perishable goods _ L Y5t Rt
Forg A} AN | ' 4 ends with
: an
» | ' (m) Marketing begins (Fill up the gap)
(ii) non-durable goods B . . |
' | S | . | e R s AR PR N
S S | el (T IR 779 )

iii) durable goods | ‘ -1 ’
() 800 : : (n) The sole trader’s liability for the debts
?'ﬁ IR ' ' ' - of the business 18 —"
‘ . (Fill up the gap)

(iv) None of the above | ,
ﬂﬁ@ﬁiﬁ AT e (AL A
AN <Ble T L | ) mﬁww
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(o) T i ' .
he Indian Partnership Act hi
f;)vems the formation‘ and manag e
| . _ gem
~partz'tlershlp organisation in Indiaent

SRS SR Wiy
SR TN A5 o Wa wf%-—;:lw

() The maxi '
(v) mhetmax1mum number of partn
i’ ) e
; s : be for a firm carryin n
anlgng business. ' (my up theg i’
gap)

IR I BT 36T Sty
SICITH 2 | | SR
o = (I HT e )

(q} A partnership is the resujt :
agrgement which can be ora] of W:iit .
en.
(State True or False)

() A ShérCllOIdel i

7 1S an a

| gent of the
company. (State True or False)

o AT AT Grer =7 |
| (o7 o7 wem B
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(s) Joint stock company’s shares are easily
(State- True or False).

transferable.
Joint stock company ¥ STATTIR RS

e IR AR (s% 7 T )
ntellectual

(t) Planning involves an’ in
(State True or False)

exercise.

ﬂﬁmmw-m@ﬂ SO |
o ‘ (w7 @ T i)

efly :

stions bri
' 2x5=10

Answer the following que

~ (any five) . : ,
ReerRe 53 Tt T e (ﬁmmvﬁ#?f)

(@) What is serviée sector ?
ort de W e '
(b) What is globalisation ?
(et WA & 2
(¢) What do you mean
T W & Bt

(d) Define sole trading pusiness.

M-efn I e Tl

by out_sdurcing ? .
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(e) Write a n
ot
firm. € .on joint Hlndu family

e By WWGW‘WWM,

W
il hat is matrix organisation ?
Matrlx or,
ganisation W & %NT
|

(99 What is delegation of autho
| rity ?
TET A W 7 | Y
(h) Define leadership.
9eS Jigemr &4t |-
() What is SEBI?
SEBI S & ¢ -
() What is E-commerce ?
E-commerce W & ¢

3. " Write short answers to any four of th
of the

following :
B ' Sx4=20 .
S R {5 v T fors .
(a) Write a note o
business. n soc1al responSIblhty of

' IIGW&W@WW|
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~(b) Wri

te the features of franch181ng
@asiﬁ‘@@ Wﬁmﬂ '

Write the 1r‘nportance o

authonty
F\?— VIS TG snzafsﬂi =4l |

f delegatlon of

(¢

at are the problems associated with
s ? Explain.

wppRaPTR 6 2

(d) Wh
small enterprise

FY SRR O iy
wm i . |
(e) State the merits and deme
share. )
AR SR aﬁmm@qﬁmw |
N : .

rits of equity

- : 3 ,
() Write a note on Make in India
- Movement.

Make in India’ W 8O ‘ﬂﬁ CBFP—T

i

(9) State the 11m1tat10n
SRR RN e I SHAICEIT |

Contd.
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4 (Sem-1/CBCS) BOM/G 13



" (W Briefly explaj | :
) theory. - Herzberg tv""’()"factor

- Herzberg two-factor OGB! PR W S
_ A |

4.  Write lon; ‘
ng answers to an
fOHOWing: . Y fou: of the

SR R BRI TR ey e o

(@) Explain the steps .of need in A.H

' Maslow’s need hierarchy theory. of.'

motivation. Also enumerate the merits
and limitations of the theéry

€. g8} WCAT ecelifromgoy S
EWW’I%WWWWW,W,

'(b) Describe various  barriers to
‘communication. What measures would i
you suggest to overcome such barriers ?

T @i RfeR, ARREReIa 36 | @
| R R SHeE e 6 Ry s
SISIRBHRT 2

. . . - ) \ .
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(d) -Explain the various

(e) Define partnership. Explain it

(). What is sole proprietorshi
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(c) | Explain four basic principles of

decision-making. Also state the
approaches in decision-making-
T —— & G Tl RISl AN
Pt ozl PGS A2 ACFATL efel ﬂ !
' paseS of
departmentation. Also state the bfeneﬁts
of departmentation. -

Rerreer fifen fofeerz Tl sall
Rettree ARaPRR T
| s major

advantages and disadvantages-

SR e sreest frat | e T AT
| Rerer ot et

features. Explain the advantages an:

limitations of this form of busines

organisation.

S T i e ¢ 2R Cae
| ST AR R S SRR gl
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(g9 Define human resource -managenient.
Explain its fur=—_ ctions.

mem@tﬁmlwm

[RGB
(h) What is rtw—pgeant by financial
management ? Discuss the objectives
of financial mgnagement
WW Rl ‘ 1
(i) . What is prlclmg'P Brleﬂy explain the | ‘

various pr1cn\\ g policies adopted by
companles

WS g & 2 Wmﬁﬁm
TSR F_ewet A FA

G) What is prod ct life cycle ? What are
- the different stages of product life
cycle ? ‘ -

%Wﬁg/fﬂﬁw
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